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— Linear and Integer Programming
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_Declsmn Solution | Unit Cost or Total Reduced @ Basiz Allowable Allowable
'H"anahle _____ Yalue Profit c[j] Contnbution Cost Statuz  Min. c[j] Max. cj]
1] X1 3.0000 5.0000 15.0000 1] bazic 2.0000 6.0000
2 =2 1.5000 4 0000 6.0000 1] bazic 3.3333 10.0000
| Objective | Function [Max ] = 210000
| Left Hand Right Hand Slack |Shadow Allowable Allowable
Constraint Side Direction Side of Surpluz Price |Min. RH5 Max. BRHS
I c1 24.0000 {= 24.0000 1] 0.7500 17.3333 3J6.0000
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